

$$f(n^r + r) = r n^r - 1 \rightarrow f(r) : n^a + n = r$$

$$n^a + n - r = 0$$

$$\frac{n^a + n - r}{n^a + n + r} = \frac{n-1}{n+1} = (n-1) \frac{(n-1)}{(n+1)} \quad f(r) = 1$$

$$n=1$$

$$f(1,0) = r(r)^r - 1 = v \rightarrow f(1,1) = v$$

$$f(r) + f(1,1) = 1 + v = \Lambda$$

$$f(n) = n^r - 4n^r + 12n - \Lambda + \Lambda = (n-r)^r + \Lambda$$

$$g(n) = n^r + 4n^r + 12n - 12 - 12 = (n+r)^r - 12$$

$$\frac{g(\sqrt{v}-r)}{f(\sqrt{r}+r)} = \frac{-r}{1} = (-r)$$

$$\Rightarrow g(\sqrt{v}-r) = (\sqrt{v}-r+r)^r - 12 = -12$$

$$\Rightarrow f(\sqrt{r}+r) = (\sqrt{r}+r-r)^r + \Lambda = 1$$

$$f(n) = \sqrt{n+\varepsilon\sqrt{n-\varepsilon}+\varepsilon-\varepsilon} = \sqrt{(\sqrt{n-\varepsilon}+r)^2} = |\sqrt{n-\varepsilon}+r|$$

$$g(n) = \sqrt{n-\varepsilon\sqrt{n-\varepsilon}+\varepsilon-\varepsilon} = \sqrt{(\sqrt{n-\varepsilon}-r)^2} = |\sqrt{n-\varepsilon}-r|$$

$$f(n) + g(n) = |\sqrt{n-\varepsilon}+r| + |\sqrt{n-\varepsilon}-r|$$

$$\begin{cases} \varepsilon \leq n \leq \Lambda : \sqrt{n-\varepsilon}+r + \sqrt{n-\varepsilon}-r = 2\sqrt{n-\varepsilon} \\ n > \Lambda : \sqrt{n-\varepsilon}+r + \sqrt{n-\varepsilon}-r = 2\sqrt{n-\varepsilon} \end{cases}$$

$$f(n) = \frac{n+r}{n^r-\varepsilon n+r} = \frac{n+r}{(n-1)(n-r)} \rightarrow D_f : \mathbb{R} - \{1, r\}$$

$$\Rightarrow D(f \circ g) = \{r, 1\}$$

$$g(n) = \{(r, 1)(1, 1)(r, \omega)(1, \varepsilon)\} \rightarrow D_g : \{r, 1, r, 1\}$$

$$\frac{g}{f} : (r, \frac{1}{-1})(1, \frac{r}{r}) = \{(r, -\frac{1}{1}), (1, 1)\}$$

$$f(n) = \{(1, r)(r, -1)(\varepsilon, r)(-1, 4)\} \rightarrow D(f \circ g) = \{1, r, -1\}$$

$$g(n) = \{(-r, r)(1, -1)(r, r)(-1, 0)\}$$

$$f(n) = \{(\frac{1}{r}, r)(\frac{r}{r}, -1)(r, r)(\frac{-1}{r}, 4)\}$$

$$\{(-r, r)(1, r)(r, r)(-1, 1)\}$$

$$\Rightarrow f(n) = \{(-1, r)(1, r)(\sqrt{r}, -1)(-\sqrt{r}, -1)\}$$

$$\{(-1, r)(1, r)(\sqrt{r}, -1)(-\sqrt{r}, -1)\}$$